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1.

Part of the graph of y = p + g cos x is shown below. The graph passes through the points (0, 3)
and (m, -1).

Find the value of
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1 Ry

Given that sin 0 = 5 and 270° <0 <360°,
(a)  find the value of cos &; (hint: Use the unit circle to help you)
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write down the exact value of tan 6.
(Total 4 marks)
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3.

Consider the trigonometric equation 2 sin®x =1+ cos x.

a)  Write this equation in the form f{x) =0, where f(x) = a cos’x +bcosx+e,
q

and a,b,ceZ .
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(b)  Factorize fix).
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4. Consider y = sin [x + %j
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The graph of y intersects the x-axis at point A. Find the x-coordinate of A, where

0 < x < x. (hint: set y = 0 to find x-intercept)
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Solve the equation sin (x - %} —lz ,for0<x<2m.

ol .
Sn (}J c XA .%f

; 240"

o B0
i

I = (s t . ?77—
-
(

»ét[) &/AV\ 12‘—/

+ R
S
¥ = g + R 2y
7= T
/g

. b2

=

O e

%

Sy

9

(Total 6 marks)




